

NAME: SAKA YETUNDE BODUNRIN

MATRIC NO: 15/ENGR 01/016

DEPARTMENT: CHEMICAL ENGINEERING

COURSE CODE: ENGR 381

$$1 \quad \frac{d^2y}{dx^2} - \frac{dy}{dx} - 2y = 8$$

$$\frac{d^2y}{dx^2} - \frac{dy}{dx} - 2y = 0$$

$$m^2 - m - 2 = 0$$

$$m^2 + m - 2m - 2 = 0$$

$$m(m+1) - 2(m+1) = 0$$

$$(m+1)(m-2) = 0$$

$$m = -1 \text{ or } 2$$

$$y = Ae^{-x} + Be^{2x}$$

For particular integration; $y = C$

$$\frac{dy}{dx} = 0$$

$$\frac{d^2y}{dx^2} = 0$$

$$0 - 0 - 2C = 8$$

$$C = \frac{8}{-2}$$

$$C = -4$$

$$\text{G.S.; } y = Ae^{-x} + Be^{2x} - 4$$

$$2 \quad \frac{d^2y}{dx^2} - 4y = 10e^{3x}$$

$$\frac{d^2y}{dx^2} - 4y = 0$$

$$m^2 - 4 = 0$$

$$m^2 = \pm \sqrt{4}$$

$$m^2 = \pm 2$$

$$y = A \cosh 2x + B \sinh 2x$$

For particular integration; $y = Ce^{3x}$

$$\frac{dy}{dx} = 3Ce^{3x}$$

$$\frac{d^2y}{dx^2} = 9Ce^{3x}$$

$$9Ce^{3x} - 4Ce^{3x} = 10e^{3x}$$

$$\frac{5C}{5} = \frac{10}{5}$$

$$C = 2$$

$$\therefore y = 2e^{3x}$$

$$\text{C.S.}; y = A \cosh 2x + B \sinh 2x + 2e^{3x}$$

$$3 \quad \frac{d^2y}{dx^2} + 2 \frac{dy}{dx} + y = e^{-2x}$$

$$\frac{d^2y}{dx^2} + 2 \frac{dy}{dx} + y = 0$$

$$m^2 + 2m + 1 = 0$$

$$m^2 + m + m + 1 = 0$$

$$m(m+1) + 1(m+1) = 0$$

$$(m+1)(m+1) = 0$$

$$m = -1 \text{ twice}$$

$$y = e^{-x}(A + Bx)$$

For particular integration; $y = Ce^{-2x}$

$$\frac{dy}{dx} = -2Ce^{-2x}$$

$$\frac{d^2y}{dx^2} = 4Ce^{-2x}$$

$$4Ce^{-2x} - 4Ce^{-2x} + Ce^{-2x} = e^{-2x}$$

$$C = 1$$

$$\therefore y = e^{-2x}$$

$$\text{C.S.}; y = e^{-x}(A + Bx) + e^{-2x}$$

$$4 \quad \frac{d^2y}{dx^2} + 25y = 5x^2 + x$$

$$\frac{d^2y}{dx^2} + 25y = 0$$

$$m^2 + 25 = 0$$

$$m^2 = -\sqrt{-25}$$

$$m = \pm 5j$$

$$y = A \cos 5x + B \sin 5x$$

For particular integration; $y = Cx^2 + Dx + E$

$$\frac{dy}{dx} = 2Cx + D$$

$$\frac{d^2y}{dx^2} = 2C$$

$$2C + 25Cx^2 + 25Dx + 25E = 5x^2 + x$$

$$2C + 25E = 0 \dots (i)$$

$$25D = 1 \dots (ii)$$

$$25C = 5 \dots (iii)$$

From equ (iii)

$$D = \frac{1}{25}$$

From equ (ii)

$$C = \frac{5}{25}$$
$$= \frac{1}{5}$$

Substituting C in equ (i)

$$2\left(\frac{1}{5}\right) + 25E = 0$$

$$\frac{2}{5} + 25E = 0$$

$$25E = -\frac{2}{5}$$

$$E = -\frac{2}{5} \times \frac{1}{25}$$

$$E = -\frac{2}{125}$$

$$y = \frac{1}{5}x^2 + \frac{1}{25}x - \frac{2}{125}$$

Gr-5; $y = A\cos 5x + B\sin 5x + \frac{1}{5}x^2 + \frac{1}{25}x - \frac{2}{125}$

$$y = A\cos 5x + B\sin 5x + \frac{1}{5}\left(x^2 + \frac{1}{5}x - \frac{2}{25}\right)$$

5 $\frac{d^2y}{dx^2} - 2\frac{dy}{dx} + y = 4\sin x$

$$\frac{d^2y}{dx^2} - 2\frac{dy}{dx} + y = 0$$

$$m^2 - 2m + 1 = 0$$

$$m^2 - m - m + 1 = 0$$

$$m(m-1) - 1(m-1) = 0$$

$$(m-1)(m-1) = 0$$

$$m = 1 \text{ twice}$$

$$y = e^x(A + Bx)$$

For particular integration; $y = C\cos x + D\sin x$

$$\frac{dy}{dx} = -C\sin x + D\cos x$$

$$\frac{d^2y}{dx^2} = -C\cos x - D\sin x$$

$$-C\cos x - D\sin x + 2C\sin x - 2D\cos x + C\cos x + D\sin x = 4\sin x$$

$$\cos n(-\delta - 2\delta) + \sin n(-\delta + 2\delta) = 4 \sin n$$

$$\frac{-2\delta = 0}{-2 \quad -2}$$

$$\delta = 0$$

$$2C = 4$$

$$\frac{2}{2} = \frac{4}{2}$$

$$C = 2$$

$$y = 2 \cos n$$

$$(r.s.) y = e^x(A + Bx) + 2 \cos n$$

Q

$$\frac{d^2y}{dx^2} + 4 \frac{dy}{dx} + 5y = 2e^{-2x}$$

$$\frac{d^2y}{dx^2} + 4 \frac{dy}{dx} + 5y = 0$$

$$m^2 + 4m + 5 = 0$$

$$a = 1, b = 4, c = 5$$

$$m = \frac{-b \pm \sqrt{b^2 - 4ac}}{2a}$$

$$2a$$

$$= \frac{-4 \pm \sqrt{4^2 - 4(1)(5)}}{2(1)}$$

$$2(1)$$

$$= \frac{-4 \pm \sqrt{16 - 20}}{2}$$

$$2$$

$$= \frac{-4 \pm \sqrt{-1} \cdot \sqrt{4}}{2}$$

$$2$$

$$= \frac{-4 \pm 2j}{2}$$

$$2$$

$$m = -2 \pm j$$

$$y = e^{-2x}(A \cos x + B \sin x)$$

For particular integration; $y = Ce^{-2x}$

$$\frac{dy}{dx} = -2Ce^{-2x}$$

$$\frac{d^2y}{dx^2} = 4Ce^{-2x}$$

$$4Ce^{-2x} - 8Ce^{-2x} + 5Ce^{-2x} = 2e^{-2x}$$

$$Ce^{-2x} = 2e^{-2x}$$

$$C=2$$

$$y = 2e^{-2x}$$

$$\text{G.S.; } y = e^{-2x}(A \cos x + B \sin x) + 2e^{-2x}$$

$$\text{at } x=0, y=1$$

$$1 = e^{-2(0)}(A \cos 0 + B \sin 0) + 2e^{-2(0)}$$

$$1 = 1(A) + 2$$

$$1 = A + 2$$

$$A = 1 - 2$$

$$A = -1$$

$$\text{at } x=0, \frac{dy}{dx} = -2$$

$$\frac{dy}{dx} = -2e^{-2x}(A \cos x + B \sin x) + e^{-2x}(-A \sin x + B \cos x) - 4e^{-2x}$$

$$-2 = -2e^{-2(0)}(A \cos 0 + B \sin 0) + e^{-2(0)}(-A \sin 0 + B \cos 0) - 4e^{-2(0)}$$

$$-2 = -2(A) + B - 4$$

$$-2 = -2(-1) + B - 4$$

$$-2 = 2 + B - 4$$

$$B = -2 - 2 + 4$$

$$B = 0$$

$$\text{P.S.; } y = e^{-2x}(-\cos x) + 2e^{-2x}$$

$$y = -e^{-2x} \cos x + 2e^{-2x}$$

$$1) \quad 3 \frac{d^2y}{dx^2} - 2 \frac{dy}{dx} - y = 2x - 3$$

$$3 \frac{d^2y}{dx^2} - 2 \frac{dy}{dx} - y = 0$$

$$3m^2 - 2m - 1 = 0$$

$$3m^2 - 3m + m - 1 = 0$$

$$3m(m-1) + 1(m-1) = 0$$

$$(m-1)(3m+1) = 0$$

$$m=1 \text{ or } m = -\frac{1}{3}$$

$$y = Ae^{-\frac{1}{3}x} + Be^x$$

for particular integration; $y = (x+1)$

$$\frac{dy}{dx} = C$$

$$\frac{d^2y}{dx^2} = 0$$

$$-2C - Cx - D = 2x + 3$$

Comparing coefficients

$$-2C - D = -3 \dots \textcircled{i}$$

$$-C = 2 \dots \textcircled{ii}$$

$$C = -2$$

Substitute $C = -2$ in eqn \textcircled{i}

$$-2(-2) - D = -3$$

$$+4 - D = -3$$

$$+4 + 3 = D$$

$$D = +7$$

$$y = -2x + 7$$

$$\text{G.S; } y = Ae^{-\frac{1}{3}x} + Be^{2x} - 2x + 7$$

$$8 \quad \frac{d^2y}{dx^2} - 6 \frac{dy}{dx} + 8y = 8e^{4x}$$

$$\frac{d^2y}{dx^2} - 6 \frac{dy}{dx} + 8y = 0$$

$$m^2 - 6m + 8 = 0$$

$$m^2 - 2m - 4m + 8 = 0$$

$$m(m-2) - 4(m-2) = 0$$

$$(m-2)(m-4) = 0$$

$$m = 2 \text{ or } m = 4$$

$$y = Ae^{2x} + Be^{4x}$$

For particular integration; $y = Cne^{4x}$

$$\frac{dy}{dx} = C(e^{4x} + 4ne^{4x}) = 4Cne^{4x} + Ce^{4x}$$

$$\frac{d^2y}{dx^2} = 4C(e^{4x} + 4ne^{4x}) + 4Ce^{4x}$$

$$= 16Cne^{4x} + 4Ce^{4x} + 4Ce^{4x}$$

$$= 16Cne^{4x} + 8Ce^{4x}$$

$$16Cne^{4x} + 8Ce^{4x} - 24Cne^{4x} - 6Ce^{4x} + 8Ce^{4x} = 8e^{4x}$$

$$2Ce^{4x} = 8e^{4x}$$

$$\frac{2C}{2} = \frac{8}{2}$$

$$C = 4$$

$$C = 4$$

$$y = 4ne^{4x}$$

G.S; $y = Ae^{2x} + Be^{4x} + 4ne^{4x}$